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 Zlgall gl iad) Dslae

Y=A +B
NOR g isionll Jyax
Jaull 7yl
B A Y
0 0 1
0 1 0
1 0 0
] 1 0

Exclusive OR gate = EXOR AdLiiuti” gi-adlgs— ¥
07 2330 oo s e Lag Ja ol obigiis MR e 11T pads pya Slas G

XOR 4y el Leuds

1; :JD A®B=Y

EXOR 1531yt slra

Y=A ®B
NOT 5 OR 5 AND cilifse XOR ilgs Jies
A ° A
2 I Do A.B+A.B=Y
B
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EXNOR adbic 5f G2 dig- ¢

A®B=Y

A A®B AB®B=Y
B jD—D"‘

AB®B=Y
5 ) r—
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Y=A @ B EXNOR Jsdl 3l dslas

" lgeall TiidEsd] Jous

Jaudl z]l
B A 4
0 0 |
0 1 0
1 0 0
1 | 1

The inverter (NOT circuit)

The Boolean algebra of an inverter is Y=A4

Al Y
0 1
1 0
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AND GATE

The Boolean algebra of an AND 1s Y=AB or A.B

A B
0 0
0 1
1 0
1 1

- | | | | ]

The OR Gate

The Boolean algebra of an OR is Y=A+B

A B
0 0
0 1
1 0
1 1

|t | o | | et
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NAND GATE

The Boolean algebra of NAND is Y=AB

A B Y

0 0 1

0 1 1

1 0 1

1 1 0
The NOR Gate Y-A T B

A
0
0
1
1

e =l Ll E=2=~]

S| | -

The Exclusive-OR (XOR) Gate

Y =ACB

| | | D |

bt [ | e | O | 1

== |
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The Exclusive-NOR. (X-NOR) Gate

vy=A®B

AOB A @ B

A®B

AB | A+B
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"AND - OR gates ~ T gi— 4 Glate
A —~A-B
[LH
C —/B-C

Y=A.B+C.D+E _atil,cell Jaas Labill )5 gl Sl
H_gi“_gn‘:g.la.;.ﬂi:l.m“' L

:d;-._”
.-ji' _g-l:q.]alniﬂhﬁwl._t

I3

|/
)
L/

M o0 we

Y=A.B +C.D+E
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Boolean Algebra

1. Commutative Law Joil asid
2) A+B=B+A

AT asm= 2T DA

b) AB=BA

5 [ as

2. Associate Law 4 &l Sas8

a) A+(B+C)=(A+B)+C

C

A—J_D—A+(B+C)
B
) >'B+c

b) ABC) = (AB)C

A

C—

[ )—A®BO)

B —

BC

34
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D_LD—(A B)C

E:_)—w BA

A+B
(A+B)+C




3. Distributive Lawg j&l bt
2) AB+C)=AB+AC

Rules of Boolean algebra sl Ol g2 ae) 68

DA+0=A

2) A+1=1 [A|AA+0[A+1|A0 AL A+A | A+A|AA|AA

o
DI—‘:::‘q
o
|_}
o
O |7
o
=
o
o
I—‘Dﬁh"

3) A.0=0

) A.1=A

5) A+A=A
6) A+A4=1

7) A A=A
8) A. A=0

NA=A
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10)A+AB=A

A

B | AB | A+tAB

A

1)A+ AB=A+B

A+B

A+AB

B

<%

12) (A+B)Y(A+C)=A+BC

A+BC

BC

(A+B)(A + C)

A+C

A+B | AB

B

1

100

1{1/0]|0

C | A+B

B

A
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De Morgan's Theorems

De Morgan's first theorem 1s :

= ==

Y=X+7Y
De Morgan's second theorem 1s:

X+Y=XY

X —

NAND Negative-OR
X Y XY | xy| X Y | X+Y
010 0 1 1 1 1
0] 1 0 1 1 0 1
110 0 1 0 1 1
11 1 0 0 0 0
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D = 1D
X+Y = XY
Y Yy —=

X+Y=XY
NOR Negative-AND
X|Y| x Y | X¢Y |[X+Y| XY
0 0 1 1 0 1 1
0 1 1 0 1 0 0
1 0 0 1 1 0 0
1 1 0 0 1 0 0
Example

Apply DeMorgan’s theorems to the expressions XYZand X + Y + Z.

XYZ X+ Y+Z 300 e o ol san il i Guba

Solution

XYZ=X+Y+2
X+Y+2=XYZ

Example

Apply DeMorgan’s theorems to the expressionsWX¥Zand W + X + ¥ + Z

WXYZ W+ X+Y+Z 00 juledl de ole ) gans el a3 Buda

Solution

WXYZ=W+X+Y+2Z
W+ X+ ¥+ 2=WXYZ
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Example

Apply DeMorgan’s theorems to the expressions

A pladll o (le ) sasd Syl el
(a) (A+B+ C)D (b) ABC+ DEF  (¢c) AB+ CD + EF

Solution (a) (A+B+C)D=A+B‘*‘C+B

A+B+C+D=ABC+D
(b)

ABC + DEF = (ABC)(DEF)
(ABC)(DEF) = (A + B+ C)(D + E + F)
(c)

AB + CD + EF = (AB)(CD)(EF)
(AB)(CD)(EF) = (A + B)(C + D)(E + F)

Example

Apply DeMorgan’s theorems to the expressions

A el o Gle ) s iy i Bk

@ @A+B)+C ® (A+B)+CD () (A+B)CD+E+F

Solution (a) (A + B) + C= (A + B)C = (A + B)C

) (A + B) + CD = (A + B)CD = (AB)(C + D) = AB(C + D)

(© (A+B)CD+E+F=((A+B)CD)(E+F)=(AB+ C+ D)EF
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adull et Jasss

AB + A(B + C) + B(B + C)

AB + AB + AC + BB + BC

AB + AB + AC + B + BC
AB + AC+ B + BC

AB + AC + B
B+ AC

[AB{C + BD) + ABIC
(ABC + ABBD + AB)C
(ABC + A-0-D + AB)C
(ABC + 0 + AB)C
(ABC + AB)C
ABCC + ABC
ﬂEb<+E§c

BCIA + A)

AB+C)=AB+AC

A. A=A
A+A=A
A+AB=A

distributive law
(BB = 0)
(A-0-D=0)

distributive law.
(CC=10C)
A+A=1D
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ABC + ABC + ABC + ABC + ABC

ABC + ABC+ ABC + ABC + ABC

BC(A + A) + ABC + ABC + ABC (A+A=1)
BC-1 + AB(C + C) + ABC C+cC=1)
BC + AB-1 + ABC
BC + AB + ABC
BC + B(A + AC) (A+AC=4A+C)
BC + B(A + C)
BC + AB + BC
AB + AC + ABC DeMorgan’s theorem

(AB)(AC) + ABC
(A + BYA + C) + ABC
o o__ distributive law
AA+AC+AB+ BC+ ABC
o (AA=A)
[AB + ABC = AB(1 + C) = AB]

A+AC+AB + BC
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F(x,y,z) = 3(2. 3, 4, 5)
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F=z"+xy
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F(A,B,C,D)= B'D' + B'C' + A'CD'
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(b) F(A,B.C,D) = =(1,5,9,10, 11, 14, 15)
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(dy F(A,.B.C,D) = 2(0,2,4,5.6,7,8,10, 13, 15)
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